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1. [8e3 w3 3,398 TIROTO wosNY Fpeotsed F0a5 0N, %3 HATOD WOTTF T
B0ew LY, TN LTAD.
Write your eleven digit Register Number on the Question Booklet as

allotted in the admission ticket in the space provided at the top right
corner of this front page.

2. B3 FIDWRIODTY LFRD 98 BowE BT (1) BRBESNT. TOCF

T,0070r0s A0, QWY BIPRTOD  wWOWD  TWIFWIY IO,
@%@é%@@q@@gﬂ@mﬁ% QW3¢ QOT wbeﬁf%me{).
This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of
commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. QWCI0TOTO OMR 3"9)&555& @éas eB0N DCTRNORYT.

OMR Sheet will be provided subject-wise separately.

4. B8 @%@@éoﬁw TURTO BRET @ﬁoﬁaﬁ@@{ mo&\:m@, T8 ARWOOTP @%Gﬁmd
Q?_\)ﬁodmg{ TRODT.

This set of Question Booklets consists of three subjects and each subject
has separate Question Booklet.

9o TS

-0

B0y, SToben 2® IZ0R

TEAR HERE TO OPEN THE QUESTION BOOKLET
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Tear here
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96-K/E (RF/RR/PF/PR)

5.

%8 ébaojo%t 40 @%ﬁ@d%, =t @%@%éoﬁw %230120 @%ﬁ%ﬁﬁ%{ BRONT.

QTP BB 95-KE, 96-KE :08) 97-KEF FOWoRATOZ &I PRJOD T8¢
@s;ojoa VPO (QRTTD) xosjagh’%fsgt TROT. DT, HEAD T eﬁojoé
BRREHOT BOIRFOD QREPT T NE FOJNYNBOMINRDT WO T FBIY
OMR T 3ete® ZRTERRT.

40 questions are provided against each subject. This Question Booklet
contains 120 questions in all.

For those candidates who have opted alternative subject codes 95-KE,
96-KE or 97-KE the question booklets are printed with double numbering
against each question. The candidate has to shade in the OMR Sheet
according to his / her choice of subject opted.

Bde BFN wOW BOBRTW), IR, BINYNR YVZOROPYR FEICD Tone 8
JOCIRT emcgfd%c 20T eﬁoéébd%, BT ero:éd%ﬁ evspovialy 90FITT  OBTED
QTR0

Each question carries one mark. Answering all the questions is

compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

TOeF BBHODY,

Q) B3 NYTY, WINTRFI0T WO,

W) 2.00.850°. ( OMR ) RBTY, HE B3Foadnt I0 TROTT LZTHTY
MOTISHL) QEBEPNTITW T, FINY 3 FOCRT YVTTT 2,00 T FBI)
QeD/TFH) ToCWCL WF TOCWOE T WRT, YVTOSRENY FOFREIFIN

Je® =B. ?Nda@ emgdws% JeT® DRBT e WTETDCAZOD COVDIAIE
0B oIR)TIe @571325 mda@bmf@{ 20.290.830°. ( OMR ) R0¢&3 RELIDTTO.

VPTOR | ByF [0S, 1 208 LUETT ©0d) Fods, C BNTY, L..20.8T .
(OMR ) RRBY 03, C 0 e/ FF) To0WOD LG’ TS T
VTo3ReNR 33 ISR éfaemdoé w 3T, ROTREIF N e WL

FIF02:200 @ ® © O (9% QTR ZRE))

O O @ O

2)  %.20.0°. (OMR) TIODTY, T, BOTVRTW &Tevo F TS
RIDTILIVTTO.
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96-K/E (RF/RR/PF/PR)

During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C 1is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ © @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

20T TyJ N woTEOT Ted), FINYI) I BRRTY, BOBH YVFTNFRY, IF 0w

TONEIR BOFNTIY, VLTSN,

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

©.20.50°. ( OMR ) RWBY, AN ZFTY, L, HF Tone 3RTE BoeD25TFI

3553@ Do BITLICBD.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10. TOegp WHR B|ONT TOTT QTEIITO GWFORT %.00.8T°. ( OMR )3 3RATR
B¢ 5TTON STWTIE LTI,

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

11. 35, 50030, @g@gsm@qae@ww 59, Fo0F T TP 030¢ WRRITYT.

Rough work can be done in the space provided at the end of the Question

Booklet.

12. TOegp BRBRAILYN TLOTEWT, [RY T TS, TEFF W WTY VI
o3R)T3e @@'@@DE‘ QUTFTEINTY, BTOFTIY, ARCQREONT.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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96-K/E (RF/RR/PF/PR)
DReH : VPR
<

Subject : ECONOMICS
B2 T, 30400T0 JINVR T OTROF TeENPR T, SNRERY BN,
BRYNTO, FORT LOZTTRY &0 QTR ACBRNIVT 0.20.63TF. ( OMR ) 03T
B, BN 2D W TH) To0LOD WL® To0E® BTN BOIRT o8 NRY
Jewe® SRR 40 x 1 =40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer among them and shade the correct

option in the OMR Answer Sheet given to you with a black / blue ball point

pen. 40 x 1 =40
1/41. " T3e3%) WHRTINT DFOTT T30 WRWINT' Q0T TePTITTO
(A) oonT® SR E (B) RoTez* SorpeT
(C) T PTRee? (D) mo&e

"Country is poor because it is poor." This is stated by
(A) Ragner Nurkse (B) Suresh Tendulkar

(C) Dadabhai Naoroji (D) Gandhiji
2/42. QRINTEY WTY FRR B BTN TRODTOT T3e3

(A) TS (B) a®odpeod
(C) Ao (D) oriow®

The country which has very low annual per capita income is
(A) India (B) Ethiopia

(C) Switzerland (D) England
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96-K/E (RF/RR/PF/PR)

3/43.

4/44.

BT Q) BEINTY, 8¢ FR[D THeF’. 8.2, AT TTed
(A)  Oeas3E3Ts 856w 08 wdmen; FPOYNY 30
(B) 30 STOoWE 88o3RNTOZT

(C) DT BB 0T, 2PFTY, S0TOYRTIYTD

(D) g moddny Roed Bmwows

Underdeveloped countries have very low H.D.I. due to
(A) lack of quality education and health care facilities
(B) overdependence on Agriculture

(C) lack of development in Science and Technology

(D) overdependence on Industries

&OTOVT TETTI 02, VFEANTD
(A) 333, INOeETED

(B) wsP5

(C) =FTZ0d Teoed T,

(D) ov33 edeess 0w
&3

The main characteristic of backward country is
(A) more urbanization

(B) more malnutrition

(C) more literacy

(D) higher standard of living
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5/45.

6/46.

7/47.

1982 T JuRT'E ST, FILAT
(A) =003, (B)

(C) WonsrdIY, (D)

NABARD was established in 1982 in

(A) Mumbai (B)
(C) Bangalore (D)
E3TI TOOMTTY, QBT

(A) gmod3ne @2@%@@ A (B)
(C) Fodss @?@%@(pﬁ (D)

Taccavi loans were granted for
(A) industrial purpose (B)

(C) personal purpose (D)

AD0RBETT AW, T30 YVTOTTH
(A)  oed, 239,05 (B)

(C) =woed (D)

96-K/E (RF/RR/PF/PR)

BBODE)

%@G%@JCSQ)

Delhi

Kolkata

trade purpose

agricultural purpose

) @’43333@ 239, 03°
@ 3

C3e30TICNTIVTTO

The example for an important source of Non-institutional credit

is
(A) Commercial bank (B)

(C) Government (D)

Land Development Bank

Money lenders
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8/48.

9/49.

10/50.

3% B3, T wEJ T 299,05
(A) SwEs (B)

(C) =R=T20 239 ol (D)

The Apex bank for agriculture is
(A) NABARD (B)

(C) Co-operative bank (D)

NI T W8, 08 TLOI Fe0T, 239, 0F°
2 3
(A) RTS8 ORTE 2I9,0F° (B)

(C) o% w08 (D)

LR ROTOTED 239 oo

BYECIO 19,e0¢ED 239, 0F°
&) p)

Land reforms bank

Local rural bank

23, 05° T QO OT*

WD 239, 0F°
ISR

The oldest central bank of the world is

(A) Reserve Bank of India (B)

(C) Riksbank (D)

OOTR® ¢I9,05°" B TEIT FeoT3, L3, 0F°
(A) w=Z* (B)
(C) @ (D)
'Bundes Bank' is central bank of
(A) Japan (B)

(C) France (D)

Bank of England

World Bank

&SUGU%OCEG

TR

Netherland
Germany
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11/51.

12/52.

13/53.

96-K/E (RF/RR/PF/PR)

IOTZe0d) OFR'F 1), 05° Fe0T3, B0 ATV

(A) TTODE

(C) RTATY,

The headquarters of RBI is in

(A) Delhi

(C) Chennai

239, 0TI 239, 0FOTe Ty AT TNTIZYT

(A) 2RV

(C) SwEts

Banker's bank is
(A) IDBI

(C) NABARD

ORIt ¢3, 05° T TINROBT
(] (]
(A) 15¢ D&, 1935 BoH

(C) 1e¢ Q&,e®, 1949 T
RBI was established on
(A) 1st April, 1935

(C) 1st April, 1949

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

%dmmasq

=003,

Hyderabad

Mumbai

:2;@36 239, 05° &5F° QORAI®

ORRE 233 (ol

SBI

RBI

13e @wEEs, 1934 Jowd

13e I, 1950 dotd

1st March, 1934

1st March, 1950
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14/54.

15/55.

16/56.

ORF*E 1, 0F° NISFT'T WQTTT B

(A) 4 JInsd

(C) 6 TRFNO

(B)

(D)

The term of RBI Governor's office is

(A) 4 years

(C) 6 years

DO 0L JEYWIY, WIFRIT Te3
(A) T
(C) woniom®

Ruble is the currency of

(A) Russia

(C) England

23, 11023 QT BOLOLHITOTYTO
(A) = 0OARR

(C) ©% morr

Broad gauge is related to
(A) Water transport

(C) Road transport

(B)

(D)

(B)

(D)

(B)

(D)

5 JIRFN

7 IREN

S years

7 years

Y
K

China

France

230030 TORR

8 & mORR
<

Air transport

Rail transport
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17/57.

18/58.

19/59.

96-K/E (RF/RR/PF/PR)
WAOT WCINVES0ITY WOTIRPAT BHRE
(A) 1990 (B) 1992
(C) 1994 (D) 1996
Open sky policy was introduced in the year
(A) 1990 (B) 1992

(C) 1994 (D) 1996

DTWIONYY, TR ONTTY, WFRT BT
(A) Heo® @ (B) woT*

(C) 3Rcemoocs (D) ©m DR

The king who constructed highways is

(A) Sher Shah (B) Babur

(C) Krishnadevaraya (D) Tipu Sultan

BRT §POT VeS0T, YTBHY, 0N 0BT,

(A) 1991 (B) 1990

(C) 1995 (D) 2000

The New Industrial Policy of India was introduced in the year
(A) 1991 (B) 1990

(C) 1995 (D) 2000
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20/60.

21/61.

20 03N 5o030FF,50T &m0 YuT3es
(A) ©TZT300 ABoRF O

(B) WESBIT w000l

(C) wdnen, Y NI WINBIRTO

(D) 3mO3Nen Fo© ARONTI) WENBITYTO

The main objective of 20 point programme is
(A) eradication of illiteracy

(B) eradication of poverty

(C) providing health facilities

(D) providing loans for industries

2006 TE) 23201 30T 33,3080 03B,

(A)  SOTZMOOG TR 19,8069 YVTIR, N 859BO CIREE
(B) Bear 203008 19,30 ZTREF DT’ 03ReRsS

(C) wvtdpen yoss odpesd

(D) 08w B =T @2;3?,3)63@ ABRewS

The programme introduced in 2006 is

(A) MGNREGP (B) SJGSY

(C) EAS (D) DWCRA
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22/62. 03T TF FOMROIN &B,m0INT $DF0TT &30
(A) @&3%@@ BROOTOZ T3eS
(B) T9ne cie3
(C) we3gans de3

(D) ©RJQ TeoLYT &e3
@ 3e)

Road transport is important in India because it is a/an
(A) developed country

(B) country of villages

(C) country of towns

(D) underdeveloped country
23/63.  To&LOW M9,a0erd BRERRRETICI SRS MoD

(A)  11R,80e69 T, TeBLOT LESTHR), JTRFOT BRI
(B) INT T,TeBNP0T WRSTHR), JTRFOT BRBWITYTO
(C) M)0ee9 TSRV TR APFOLFNFRY LWHBNATHTD

(D) 1,009 T,TeBNOT STREN, FPOYNTFIY LTBNROYTO

The main aim of National Rural Livelihood Mission is to
(A) eradicate poverty from rural areas

(B) eradicate poverty from urban areas

(C) provide basic infrastructure to rural areas

(D) provide health facilities to rural areas
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24/64. ST SpeeT o3ReESeD LVt s
(A) 712,506 WREION LVTR N
(B) INTT WwEEION w38
(C) SINTB WBHSON TR, en

(D) 19,8006 WTEWTON ==&

Nehru Rozgar Yojana was initiated with the objective of

providing

(A) employment to rural poor
(B) housing to urban poor

(C) employment to urban poor

(D) housing to rural poor

25/65.  TeITW W SBO3E 599,500
(A) O (B) o)

(C)  0ts,508s° 59,3390 (D) 02308 w9300

The trade within the country is called
(A) import (B) export

(C) entrepot trade (D) internal trade
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26/66.

27/67.

96-K/E (RF/RR/PF/PR)

WESIDI) 98303000 BT é’ocarae)écﬁ WSRO DO
(A) 3o SO0

(B) oo wed &5,

(C) FRoLS 5o, Spedns FessS

(D) 3o 3023 wTREN, T D3dF

The method used by Suresh Tendulkar to measure poverty is

(A) per capita income
(B) per capita consumption expenditure
(C) daily calories intake

(D) expenditure on education and health

PRTBT FRTO T,wd TN, 83008 0TI 53 INTH IBOI
(A) =moon, (B) &om

C) TR (D) ®BT

The first rail in India ran between Bombay and
(A) Sangli (B) Thane

(C) Pune (D) Purandar
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28/68.

29/609.

30/70.

POTIT B0, TF)
(A) owT (B) &¥=»

© w3 D) ™y

The chief export of India is
(A) Rubber (B) Tea

(C) Gold (D) Granite

56& QT ¢TSI DR 23, 0F° WIVIORISTIN wssﬁa
(A) TIH QT [ =K (B) NOR Q0B = =%
[c} 3 ® o 3@
(C) ©S8cINT BV ;57 (D) 9,03:002388 QB .33
@ ) 3@

The system followed by Reserve Bank of India for issuing

currency is
(A) minimum reserve system (B) maximum reserve system

(C) excessive reserve system (D) fair reserve system

TIF LIFBQTOW T, oS T8, OO FeIed

(A)  FToZ, B (B) S599T @WOD

(C) T3 TOOD (D) TpzF IO

The railway zonal headquarters that is situated in Karnataka is

(A) South Western Railway (B) North Eastern Railway

(C) Southern Railway (D) Eastern Railway
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31/71.

32/72.

96-K/E (RF/RR/PF/PR)

‘g MoOBeTTED WTFeme ToT 0TIV
(A) RT® 0. VST (B) 033 Mooy
N ) &

(C) w=HR,F Fex® (D) TSIt IPTReL]

"Industrialize or Perish" was stated by

(A) Sir M. Vishwesvaraya (B) Mahatma Gandhi
(C) Amartya Sen (D) Dadabhai Naoroji
0, 3R/ mdéd@ﬂ%e&m@ﬁoﬁa@{ R, @w@%}d%
(A) [T T,030069 LFTD

(B) 339 59,3090 &0 6:365@9366 RATHO0ITNSOTID

(C) Do, ToRTINDT AT TWRTWED

(D) 18573 morieddmy, A, SR

The British developed railways in India to

(A) help the people to travel

(B) help their own trade and administration
(C) help princely states

(D) suppress 1857 revolt
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33/73.

34/74.

RTBTY, BT 0030 AOT Fez3 FOAT.
(A) ©POTRIT® R0 TR TEOH

(B) TTO =) 30T I3

(C) 0oz 303 BEO TS

(D) ©0mIT* &08) 5 SBOS

The first air transport service in India was made between
(A) Allahabad and Delhi

(B) Delhi and Calcutta

(C) Bombay and Delhi

(D) Allahabad and Ninny
T3, T36ST 11,0660 2T, 0BONTTY, 302D, 30N TRATOYT 0TON TBEFTIRO
Qewen

(C) =050 B,=ReT3 FrwogNer
(D) g modse Fo0F 30N

The Regional Rural Bank provides financial assistance to
(A) large scale industries

(B) marginal and small farmers

(C) medium scale industries

(D) industrial labourers

18 of 24



96-K/E (RF/RR/PF/PR)

35/75.  A0RCIT® QOO 239, 05° FOTIBRTR),

(A) 1935 (B) 1945

(C) 1921 (D) 1931

Indian Imperial Bank was established in

(A) 1935 (B) 1945

(C) 1921 (D) 1931
36/76. OHETIADT T,Fo0 23PTEINO oW

(A) w080

(B) &

(C) <T3ed 7T

D) 3

The engine of growth in economics is

(A) Banking

(B) Insurance

(C) Foreign trade

(D) Agriculture
37/77. 3T POT 3¢ TRT T 2500 TRODTIT Te3

(A) 33008 (B) T,

(C) e (D) oTe

The fourth largest railway transport network country in the

world is
(A) America (B) Russia
(C) China (D) India

19 of 24



96-K/E (RF/RR/PF/PR)

38/78. 98 aézigjém E3TTO0T TRODTO® T5eI

(A) T
(B) wotARs
(C) B,

(D) 3008 Focdws FomI

The nation having highest per capita income is

(A) India
(B) Pakistan
(C) Egypt

(D) America

39/79. WIS Wew [0 TATHYT 3RF L0 THOIIW A0
(A) =0T, E[Q WO
(B) Qezormd oo
(C) ©RIH T

(D) ©8¢ QEFTFRY T®

Credits sought for purchase of seeds and fertilizers are called
(A) Medium term credits

(B) Long term credits

(C) Short term credits

(D) Very long term credits
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40/80.

1883 3¢ 3001 803 aoﬁ%
(A) 380 TONY T903),
(B) %Pre-wpm 0 5008
Q Q
(C) Pre-wnE,d TNy 503
Q Q

(D) %BR-X07o0 @053@

The Act passed in 1883 is

(A) The Agricultural Loans Act
(B) Land Development Act

(C) Land Improvement Loans Act

(D) Land Reform Act

96-K/E (RF/RR/PF/PR)
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(3, manrsN)
( SPACE FOR ROUGH WORK )
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(3, monrEN)
( SPACE FOR ROUGH WORK )
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